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Questions

The scietific name of human being is.

Which is the correct way of writing scientific name of an organism?

What is binomial nomenclature.

The Scientific name of rice is.

Sceitific name or brinjal is

In which of the followign the first letter is captalized in binomial nomenclature.

Bionomical nomenclature was introduced by

Scientific name has advantages of.

Scientific name has advantagesof.

Which character of viruses make their resemblance with living organisms.

Select the one which is "NOT" the characteristics of prion.

The body of wich organism consits only of RNA.

Answers Choice

A. E.coli

B. Home Sapiens

C. Pisum sativum

D. Amanita muscaria

A. Canis lupus
B. Escherichia coli
C. Saccharum
D. Giant's gazelle

A. Namign system in which each
organism is given two part name

B. Classifying organismsm on seven
levels

C. Naming system developed by
aristotle

D. Grouping animals based on their
habitat

. Oryza sativa

. Oryza Sativa

. Oryza sativas

. ORYZA SATIVAES

. Solamum melangena
. Bauhrinia cepa

. Bauhinia rebens

. Oryza sativa

. Family

. Class

. Species
. Genus

. Arisotle

. Carolus Linnaeus
. Emest Haeckel
D. R.H.Whittaker
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A. Has scietific basis and is
universally accepted

B. Same name applied to different
organisms

C. Same organismsm have different
name in differente areas

D. Has no scietific basis

A. Same name applied to differente
organisms

B. Same organismsm have different
name in differente arreas.

C. Has scientific basis and is
univrsally accepted

D. Has no scietific basis

A. They can be crystallized

B. They can not live outside host
body

C. They contain DNA or RNA

D. All of the above

A. Do not contain circular RNA
B. Can replicate

C. Cause disease in sheep

D. Composed of protein only

A. Prions
B. Viroids
C. Viruses
D. Algae



